5( For each of the following, determine the parameters and describe the combination of transformations that must be

applied to the graph of {x) = x? (shown in blue) to obtain the graph of g(x) (shown in red). (2 marks each)
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2. The base function fx) = J; is reflected in the x-axis, stretched horizontally by a factor of 2, compressed vertically by a

factor of —3, and translated 3 units to the left and 5 units down.
a) Write the equation of the transformed function g(x). (2 marks)
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& b) Graph the original function and the transformed function
~\K on the same set of axes. (2 marks)
show mapping of at least 4 points. (2 marks)
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3. For the function f(x) = —%x +3

i) determine S~ (x) (1 mark)
y = "l; \.’ 'S 3
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ii) graph fix) and its inverse (2 marks)
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4- The height of a square-based box is 4 cm more than the side length of its square base. If the volume of the box is 225

cm?, what are its dimensions? (4 marks) ' 2 |
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5_- actor 4x3 +2x° , ‘ -
= 4 S
X 3fU"y. Draw a graph of the function, including reference polnts (7 mark ) ‘
F X +ax3 + (7 marks) |

' Y"—‘ P (| d

» ) ! 4 1.4 " -3 , TTT _’F‘f 1-X++4x3'?¥?'»4x-3

- aj., =§ #1 =3 T i o ik

T A S cdiceRpanances:

(x-n(x 34 85x? v1x ¥ 3) e TN

Y=-t . X#) CO ALY NS 1-_:“,

M ¥ NN
AT

24 Ax 43)

(x-1DCx+1) (X
(x -1 (x+) (X +3)(X#1)D

F;H)a(x—l)(x»f?)l S
. X+
6. Considerthefunctuonﬂx)= : . (8 marks)
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7. Sketch the function f(X) = Pyt

X=4

Horizontal asymptote: \.{ =0

Vertical asymptote:
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8. Solve: a) ;;’3 = Zx; b)

w24 Sy = Jx? Lx +x -))

X > -4x-dl=0
(x +3)(x-1) =0
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Identify the following characteristics: (9 marks)
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